

NON HOMOGENEOUS CUBIC EQUATION WITH THREE UNKNOWNNS

$$6(x^2 + y^2) - 11xy + 3(x + y) + 9 = 192z^3$$

Dr. R.Anbuselvi,
Associate professor Department of Mathematics,
ADM college for women(Autonomous),
Nagappattinam,
Tamil Nadu, India

D.Nithya
Assistant professor of Mathematics,
N.S.C.B college for women,
Thiruvarur,
Tamil Nadu, India

Abstract

The non-homogeneous cubic equation with three unknowns represented by $6(x^2 + y^2) - 11xy + 3(x + y) + 9 = 192z^3$ is analyzed for finding its non-zero distinct integral solutions. Five different methods have been presented for determining the integral solutions of the non-homogeneous cubic equation under consideration. Employing the integral solutions of the above equation, a few interesting relations between special numbers are exhibited.

Keywords: Ternary, Cubic, Non-homogeneous, Integral solutions.

1. Introduction

Integral solutions for the cubic homogeneous or non-homogeneous Diophantine equations is an interesting concept, as it can be seen from [1,2,3]. In [4-23], a few special cases of ternary cubic Diophantine equations are analyzed. In this communication, we present the integral solutions of yet another cubic equation $6(x^2 + y^2) - 11xy + 3(x + y) + 9 = 192z^3$ along with a few interesting properties.

Notations

$$t_{m,n} = n \left(1 + \frac{(n-1)(m-2)}{2} \right)$$

$$P_n^m = \left(\frac{n(n+1)}{6} \right) [(m-2)n + (5-m)]$$

$$SO_n = n(2n^2 - 1)$$

$$S_n = 6n(n-1) + 1$$

$$Pr_n = n(n+1)$$

$$Ky_n = 2^{2n} + 2^{n+1} - 1$$

$$Gno_n = 2n - 1$$

$$CP_n^6 = n^3$$

$$PP_n = \frac{1}{2}n^2(n+1)$$

$$T_n = \frac{1}{2}n(n+1)$$

$$CS_n = n^2 + (n-1)^2$$

$$CP_a^3 = \frac{n(n^2+1)}{2}$$

$$HXP_a = \frac{1}{6}n(n+1)(4n-1)$$

2. Method of analysis

Consider the non-homogeneous ternary cubic Diophantine equation

$$6(x^2 + y^2) - 11xy + 3(x + y) + 9 = 192z^3 \quad (1)$$

Introducing the linear transformations

$$x = u + v, y = u - v \quad (2)$$

In (1), it is written as

$$(u + 3)^2 + 23v^2 = 192z^3 \quad (3)$$

We employ different ways of solving (3) and thus, different pattern of integer solutions to (1) are illustrated below:

2.1 Pattern I:

Write 192 as

$$192 = (13 + i\sqrt{23})(13 - i\sqrt{23}) \tag{4}$$

Assume,

$$z = a^2 + 23b^2 \tag{5}$$

Where a and b are non-zero distinct integers.

Using (4) and (5) in (3) and employing the method of factorization, define

$$(u + 3) + i\sqrt{23}v = (13 + i\sqrt{23})(a + i\sqrt{23}b)^3$$

Equating the real and imaginary parts of the above equation, we get,

$$u + 3 = 13a^3 - 69a^2b - 897ab^2 + 529b^3$$

$$v = a^3 + 39a^2b - 69ab^2 - 299b^3$$

Substituting the values of u, v in (2), we have

$$x(a, b) = 14a^3 - 30a^2b - 966ab^2 + 230b^3 - 3$$

$$y(a, b) = 12a^3 - 108a^2b - 828ab^2 + 828b^3 - 3 \tag{6}$$

Thus (5) and (6) represent the non-zero distinct integral solution of (1).

2.1.1 Properties

1. $x(1, b) + y(1, b) + z(1, b) - 529SO_b + 1771Pr_b \equiv 21(mod 2162)$
2. $y(a, 1) + x(a, 1) + 2P_a^5 + 138Pr_a + 3312t_{3,a} - 1657t_{4,a} - 1052$ is a cubical integer.
3. Each of the following expression represent the nasty number.
 - (i). $12x(1, b) - 14y(1, b) + 1152SO_b + 13056P_b^5 - 6528t_{4,b}$
 - (ii). $y(1, b) - 3z(1, b) - 414SO_b - 306Pr_b + 1203t_{4,b}$
 - (iii). $x(a, 1) - y(a, 1) - SO_a + 137Pr_a - 137t_{4,a} + 598$
4. $y(1, b) - z(1, b) - 414SO_b - 306Pr_b + 1157t_{4,b} = 8$
5. $z(1, 2^n) - 22Ky_n + 461$ is a perfect square.

2.1.2 Note:

In (4), 192 may also be written as

$$192 = (-13 + i\sqrt{23})(-13 - i\sqrt{23}) \tag{7}$$

For this case the corresponding integer solutions are given by,

$$x(a, b) = -12a^3 - 108a^2b + 828ab^2 + 828b^3 - 3$$

$$y(a, b) = -14a^3 - 30a^2b + 966ab^2 + 230b^3 - 3$$

$$z(a, b) = a^2 + 23b^2$$

2.2 Pattern II:

Instead of (4) write 192 as

$$192 = (10 + i2\sqrt{23})(10 - i2\sqrt{23}) \tag{8}$$

Substituting (8) in (3) and proceeding as in pattern I, the non-zero distinct integral solutions to (1) are given by,

$$x(a, b) = 12a^3 - 108a^2b + 828ab^2 + 828b^3 - 3$$

$$y(a, b) = 8a^3 - 168a^2b - 552ab^2 + 1288b^3 - 3$$

$$z(a, b) = a^2 + 23b^2$$

2.2.1 Properties

1. $x(a, 1) + y(a, 1) - 40P_a^5 + 2760t_{3,a} - 1084t_{4,a} = 2110$
2. $x(1, b) - y(1, b) + 920P_b^5 - 124t_{4,b} - 60Pr_b$ is a perfect square.
3. $x(a, 1) + y(a, 1) + 276Pr_a + 6SO_a + 555Gno_a - 1555$ is a cubical integer.
4. $x(a, 1) + y(a, 1) + 138CS_a + 823Gno_a - 10SO_a = 1425$
5. $z(a, 1) - y(a, 1) + 4SO_a - 274Gno_a + 988$ is a perfect square.

2.2.2 Note:

In (8), 192 may also be consider as

$$192 = (-10 + i2\sqrt{23})(-10 - i2\sqrt{23}) \tag{9}$$

For this case the corresponding integer solutions are given by,

$$x(a, b) = -8a^3 - 168a^2b + 552ab^2 + 1288b^3 - 3$$

$$y(a, b) = -12a^3 - 108a^2b + 828ab^2 + 828b^3 - 3$$

$$z(a, b) = a^2 + 23b^2$$

2.3 Pattern III:

Write (3) as,

$$(u + 3)^2 + 23v^2 = 192 * z^3 * 1 \tag{10}$$

1 can be written as

$$1 = \frac{(11+i\sqrt{23})(11-i\sqrt{23})}{(12)^2} \tag{11}$$

Using (4), (5) and (11) in (10) and proceeding as above, the non-zero distinct integer solution to (1) are obtained as

$$\begin{aligned} x(a, b) &= 144(144a^3 - 1296a^2b - 9936ab^2 + 9576b^3) - 3 \\ y(a, b) &= 144(96a^3 - 2016a^2b - 6624ab^2 + 15456b^3) - 3 \\ z(a, b) &= 144(a^2 + 23b^2) \end{aligned}$$

2.3.1 Properties

- $x(a, 1) - y(a, 1) - 3456SO_a + 4t_{4,a} + 236736Gno_a + 1083456$ is a perfect square.
- $x(a, 1) - y(a, 1) - 13824PP_a - 96768t_{4,a} + 238464Gno_a + 1085184 = 0$
- $x(1, b) + 3312z(1, b) - 689472SO_b + 502848t_{2,b} = 497661$
- $y(a, 1) + 2016z(a, 1) - 27648CP_a^3 + 483840Gno_a = 2612733$
- $x(a, 1) + y(a, 1) + 476928Pr_a + 2384640t_{2,a} - 34560CP_a^6 = 3604602$

2.3.2 Note:

In (11), 1 may also be considered as

$$1 = \frac{(-11+i\sqrt{23})(-11-i\sqrt{23})}{(12)^2} \tag{12}$$

For this case, the corresponding integer solutions are given by,

$$\begin{aligned} x(a, b) &= 144(-164a^3 - 636a^2b + 11316ab^2 + 4516b^3) - 3 \\ y(a, b) &= 144(-168a^3 + 360a^2b + 11592ab^2 - 2760b^3) - 3 \\ z(a, b) &= 144(a^2 + 23b^2) \end{aligned}$$

2.4 Pattern IV:

1 may be written as

$$1 = \frac{(7+i3\sqrt{23})(7-i3\sqrt{23})}{(16)^2} \tag{13}$$

Using (4), (5) and (13) in (10) the non-zero distinct integer solution of (1) are given by

$$\begin{aligned} x(a, b) &= 256(68a^3 - 3108a^2b - 4692ab^2 + 23828b^3) - 3 \\ y(a, b) &= 256(-24a^3 - 3240a^2b + 1656ab^2 + 24840b^3) - 3 \\ z(a, b) &= 256(a^2 + 23b^2) \end{aligned}$$

2.4.1 Properties

- $z(a, 1) - T_{108} - 2$ is a perfect square.
- $x(a, 1) - y(a, 1) - 47104PP_a - 10240Pr_a + 817664Gno_a + Tha_{19} = 496127$
- $x(a, 1) + 84SO_a + 795648Pr_a + 202794Gno_a - T_{3434} + 724$ is a cubical integer.
- $z(a, 1) + 5888Gno_a - 11776t_{2,a}$ is a perfect square.

2.4.2 Note:

In (13), 1 may also be considered as

$$1 = \frac{(-7+i3\sqrt{23})(-7-i3\sqrt{23})}{(16)^2} \tag{14}$$

For this case, the corresponding non-zero integer solutions are given by,

$$\begin{aligned} x(a, b) &= 256(-128a^3 - 2688a^2b + 8832ab^2 + 20608b^3) - 3 \\ y(a, b) &= 256(-192a^3 - 1728a^2b + 13248ab^2 + 13248b^3) - 3 \\ z(a, b) &= 256(a^2 + 23b^2) \end{aligned}$$

2.5. Pattern V:

192 may be taken as

$$192 = (-13 + i\sqrt{23})(-13 - i\sqrt{23}) \tag{15}$$

Using (15), (5) and (11) in (10) the corresponding non-zero integer solutions of (1) are given by

$$\begin{aligned} x(a, b) &= 144(-168a^3 - 360a^2b + 11592ab^2 + 2760b^3) - 3 \\ y(a, b) &= 144(-164a^3 + 636a^2b + 11316ab^2 - 4876b^3) - 3 \\ z(a, b) &= 144(a^2 + 23b^2) \end{aligned}$$

2.5.1 Properties

- $z(a, 1) - T_{81} + 9$ is a perfect square.
- $x(1,1) + y(1,1) + OH_2$ is a cubical integer.
- $y(a, 1) - x(a, 1) - 1728sqP_a - 71280t_{6,a} - 15624Gno_a + 1083960 = 0$
- $864z(1,1) - x(1,1) - y(1,1)$ is a nasty number.
- $x(a, 1) - y(a, 1) + z(a, 1) + 864HXP_a + 71424Hex_a + 15912Gno_a = 1086984$

3. Generalization

1 can be written as ,

$$1 = \frac{[(2n^2-2n-11)+i\sqrt{23}(2n-1)][(2n^2-2n-11)-i\sqrt{23}(2n-1)]}{(2n^2-2n+12)^2} \tag{16}$$

Using (4), (5) and (16) in (10) and proceeding as above, the non-zero distinct integer solutions to (1) are obtained as,

$$\begin{aligned} x(a, b) &= (2n^2 - 2n + 12)^2[(2n^2 - 2n - 11)(14a^3 - 30a^2b - 966ab^2 + 230b^3) \\ &\quad - (2n - 1)(10a^3 + 966a^2b - 690ab^2 - 7406b^3)] - 3 \\ y(a, b) &= (2n^2 - 2n + 12)^2[(2n^2 - 2n - 11)(12a^3 - 108a^2b - 828ab^2 + 828b^3) \\ &\quad - (2n - 1)(36a^3 + 828a^2b - 2484ab^2 - 6348b^3)] - 3 \end{aligned}$$

$$z(a, b) = (2n^2 - 2n + 12)^2[a^2 + 23b^2]$$

4. conclusion

As the cubic equations are rich in variety, one may search for integer solutions to other choices of ternary cubic equations as well as cubic equations with multi variables (>3).

5. References

- [1] Dickson. L.E. "History of Theory of Numbers and Diophantine Analysis", Vol.2, Dove Publications, New York 2005.
- [2] Mordell. J "Diophantine equations" Academic Press, New York 1970.
- [3] R.D. Chrnicheal, "The Theory of Numbers and Diophantine Analysis", Dover Publications, New York 1959.
- [4] M.A. Gopalan, Manju Somnath and N. Vanitha, "On ternary cubic Diophantine equation $x^2 + y^2 = 2z^3$ Advances in Theoretical and Applied Mathematics", Vol.1, No. 3227-3231, 2006.
- [5] M.A. Gopalan, Manju Somnath and N. Vanitha, "Ternary cubic Diophantine equation $x^2 - y^2 = z^3$ ", Acta Ciencia Indica, Vol. XXXIIIM, No. 3, 705-707, 2007.
- [6] M.A. Gopalan and R. Anbuselvi, "Integral solutions of ternary cubic Diophantine equation $x^2 + y^2 + 4N = zxy$ ", Pure and Applied Mathematics Sciences Vol.LXVII, No. 1-2 107-111, March 2008.
- [7] M.A. Gopalan, Manju Somnath and N. Vanitha, "Ternary cubic Diophantine equation $2^{2\alpha-1}(x^2 + y^2) = z^3$ ", Acta Ciencia Indica, Vol. XXXIVM, No. 3, 1135-1137, 2008.
- [8] M.A. Gopalan, V. Pandichelvi On the ternary cubic equation $y^2 + gz^2 = (k^2 + g)x^3$ Impact Sci. Tech., Vol 4 No 4, 117-123, 2010.
- [9] M.A. Gopalan, J. Kaligarani Integral solutions $x^3 + y^3 + 8k(x + y) = (2k + 1)z^3$ Bullentin of pure and Applied Sciences, Vol 29E, No.1, 95-99, 2010.
- [10] M.A. Gopalan, S. Premalatha On the ternary cubic equation $x^3 + x^2 + y^3 - y^2 = 2(z^3 + z^2)$ Cauvery Research Journal Vol 4, issue 1&2., 87-89, July 2010-Jan 2011.
- [11] M.A. Gopalan, V. Pandichelvi, observations on the ternary cubic equation $x^3 + y^3 + x^2 - y^2 = 4(z^3 + z^2)$ Archimedes J. Math 1(1), 31-37, 2011.
- [12] M.A. Gopalan, G. Srividhya Integral solutions of ternary cubic Diophantine equation $x^3 + y^3 = z^2$ Acta Ciencia Indica, Vol. XXXVII No. 4, 805-808, 2011.
- [13] M.A. Gopalan, A. Vijayashankar, S. Vidyalakshmi Integral solutions of ternary cubic equation $x^2 + y^2 - xy + 2(x + y + z) = (k^2 + 3)z^3$ Archimedes J. Math 1(1), 59-65, 2011.
- [14] M.A. Gopalan, G. Sangeetha on the ternary cubic Diophantine equation $y^2 = Dx^2 + z^3$ Archimedes J. Math 1(1), 7-14, 2011.
- [15] M.A. Gopalan, and B. Sivakami, "Integral solutions of the ternary cubic Diophantine equation $4x^2 - 4xy + 6y^2 = [(k + 1)^2 + 5]w^3$ " Impact J. Sci. Tech., Vol. 6, No. 1, 15-22, 2012.
- [16] M.A. Gopalan, S. Vidyalakshmi and G. Sumathi, on the non-homogeneous equation with three unknowns $x^3 + y^3 = 14z^3 + 3(x + y)$.
- [17] M.A. Gopalan, and B. Sivakami, on the ternary cubic diophantine equation $2xz = y^2(x + z)$ Bessel. J. Math 2(3), 171-177, 2012
- [18] S. Vidyalakshmi, T.R. Usha Rani and M.A. Gopalan "Integral solutions of non-homogeneous ternary cubic equation $ax^2 + by^2 = (a + b)z^3$ Diophantus J. Math., 2(1), 31-38, 2013.
- [19] M.A. Gopalan, K. Geetha On the ternary cubic Diophantine equation $x^2 + y^2 - xy = z^3$ Bessel. J. Math 2(3), 119-123, 2013.
- [20] M.A. Gopalan, S. Vidyalakshmi and A. Kavitha Observations on the ternary cubic equation $x^2 + y^2 + xy = 12z^3$ Antartica J. Math. 10(5), 453-460, 2013.
- [21] M.A. Gopalan, S. Vidyalakshmi and K. Lakshmi Lattice points on the non-homogeneous ternary cubic equation $x^3 + y^3 + z^3 + (x + y + z) = 0$ Impact J. Sci. Tech., Vol 7 No 1, 21-25, 2013.
- [22] M.A. Gopalan, S. Vidyalakshmi and K. Lakshmi Lattice points on the non-homogeneous ternary cubic equation $x^3 + y^3 + z^3 - (x + y + z) = 0$ Impact J. Sci. Tech., Vol 7 No 1, 51-55, 2013.
- [23] M.A. Gopalan, S. Vidyalakshmi and S. Mallika On the ternary non-homogeneous cubic equation $x^3 + y^3 - 3(x + y) = 2(3k^2 - 2)z^3$ Impact J. Sci. Tech., Vol 7 No 1, 41-45, 2013.